Math 1B NAME YOU ASKED TO BE CALLED IN CLASS:

Quiz 7 Version
Wed Nov 21, 2012 (DUE Mon Nov 26, 2012 @ START OF CLASS)

SCORE: /30 POINTS

SHOW ORGANIZED & PROPER WORK (INCLUDING SANITY CHECKS)
& SIMPLIFY YOUR FINAL ANSWER TO RECEIVE FULL CREDIT

b Sign below to confirm that the work shown on this quiz is strictly your own work.
| 2 You may have consulted your textbook, your notes and the class handouts, and used your calculator,
b but you did NOT consult other people, websites, software or other outside sources of help.
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